Table S1. Structure of microbial biomass.
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RYO1 0.294+ 23288+ 1.59+ 0.053+ 542+ 0.063+ 242+ 0.013= 0.129+ 0.423+ 68.1 1.07+ 2731+ 913+ 40.31+7 41.38+ 26 0.539+ 785
0.049 41.50 0.30 0.010 0.97 0.012 0.41 0.002 0.024 0.081 ’ 0.20 5.12 1.67 .26 12.05 ' 0.032 )
RYO2 0.159+ 12594+ 1.44+ 0.048+ 499+ 0.058+ 3.16x 0.017+ 0.123t 0.282+ 56.4 0.57+ 1454+ 6.12+ 27.02+4 27.59+ 20 0.309+ 913
0.028 22.09 0.27 0.009 0.95 0.011 0.60 0.003  0.023 0.054 ’ 0.11 2.65 1.21 .86 3.5 ’ 0.005 )
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RY11 0.083+ 65.67+0 0.96x 0.032+ 5.36t 0.036% 0.068+ 0.151+ 55.0 1.11+  29.67+ 213+ 9.40+1. 10.51% 10.6 0.162+ 93.
0.015 1257 0.19 0.005 1.00 0.007 0.013 0.028 ’ 0.22 5.14 0.42 69 1.8 ’ 0.005 )
R13 0.108+ 85.40+0 1.35+ 0.045+ 4.99+ 0.058+ 0.103+ 0.211+ 511 0.06+ 147+ 3.27+  14.44+2 14.50+ 0.4 0.226+ 93.4
0.020 16.02 0.28 0.008 0.95 0.011 0.020 0.040 ' 0.011  0.20 0.64 .60 23 ' 0.045 '
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Note: “-” sign means “not found”






